Several signals are plotted below along with their corresponding spectra. However, they are in a random
order. For each of the signals (a)—(e), determine the correct complex spectrum (1)—(5). Write your answers

PROBLEM:
in the following table:
(a) (b) (c) (d) (e)
(1)
3
(@) s : ) 2 o
= DN _/N_/N_\_/ N N 2
VAL VAR VARV 182 L oo &
5| = ™ = 2 o
g ~
; ; ; ol 1 I I 1 1
-2 -1 0 1 2 -35 -25 -15 -05 005 15 25 35
Time (sec) (2) Frequency (Hz)
3
(b) s 9 4
E 0 \ ><x2 ™ :
" I
5t
2 1 0 1 2 0 -05 005
Time (sec) (3) Frequency (Hz)
3
§ 0 ><¥ T~ ™~
]
_5,
2 1 0 1 2 0 1 0 i
Time (sec) ( 4) Frequency (Hz)
3
(d) s o 2 o
2, /N 2y =X @
3 b N ™~
A N
5t =~ L
L L ; [ | ; [ |
-2 -1 0 1 2 0-3.5 -0.5 00.5 35
Time (sec) (5) Frequency (Hz)
3
(e) s | & =] .2
E 0 /'/\’\ x2 S © ) : g?
= *ly 2 g 2 o &
5 .g-,Q'r-“Q.g:g
; ; ; ol 1 I I 1 1
0 1 2 -35 25 -15 -05 005 15 25 35
Frequency (Hz)

-2 -1
Time (sec)



